
Which of the following was NOT a basic principle of the English Bill of
Rights? Nobles and church leaders had certain rights that the king could
not take away

Guaranteed certain rights and liberties to the people

Restricted power of the king

Established England as a constitutional monarchy
neither bail nor fines may be excessive, and punishment may not be cruel

Ten fact about monks?
A gas with constant temperature has a pressure of 123 kPa and a volume of 123.13 L. A pressure change caused the volume to decrease to 28.15 L. What is the
new pressure?
How do I solve this? Solve y?=(y?5)(y+5) if y(2)=0?

I used methods of separation and did a partial fraction integral and ended up with



(ln(y+5)-ln(y-5))/10 = x

I'm not sure if I did this correctly nor do I know how to solve for y at this point. Please send help! Thank you.
What are the values of a, b, and c in the quadratic equation 0=1/2x^2-3x-2
PLZ HELP ME ILL MARK BRAINLIEST!!! Humans and dogs evolved from a common ancestor. Which pieces of evidence would support this? CHECK ALL
THAT APPLY.

Both of their adult forms look very similar.
They both had a tail as an embryo.
Their arm and leg structure is similar, but may have a different function.
There are fossils of an organism that is half man, half dog in the fossil record.
Both had gill slits when they were born.
New Time Videos (NTV) is a new online video rental service. In the field, it is trying to compete by offering its customers access to all of the major new video
releases in one business day. That is, if you order a video from NTV, you can expect it in one business day from the time when you placed the order. When you
are done with the video, you simply drop it in the prepaid mailing envelope and return it. All videos arrive in a sorting facility located in the Midwest where
envelopes with the videos are opened, checked (right video with the right sleeve, no scratches, no cracks, no dirt on the videos), and made ready to be sent out
again. As the manager of this facility, your goal is to turn the returned videos around in 6 hours (a shift is 8 hours long). You have the following information:
Inventory of the video 450,000 per shift
Throughput 345,000 per shift

Calculate the expected average flow time.
Nomadic groups who obtain food by hunter and collecting plants are called a.) hominids

b.) hunter-gatherers

c.) slash-and-burn farmers

d.) artisans
The photograph below was taken in the United States during World War II: What does this photograph reveal about American society during World War II?

a. Strong anti-semitic sentiment in the U.S. isolated Jewish-Americans from the main population.
b. Many Americans protested U.S. involvement in European affairs.
c. Prayer and religious services were the main way in which Americans supported the war.
d. People from different religious and ethnic backgrounds united in support of the troops.
Which statement best defines the term imperialism? A. an economic system based on long distance trade B. a strong sense of attachment to one's own country C.
the policy or action by which one country controls another D. belief in the absolute power of the emperor



Charles darwin and gregor mendel helped establish which area of the health sciences
Remy needs 5/3 yards of fabric for a craft project. Write how much fabric he needs as a fraction with a denominator of 6.
How long ago did oceans begin to form?
Anti-Semitism has been a cultural issue since ancient times. The rise of anti-Semitism in Europe prior to and during World War II was a direct cause of which
event? A. Holocaust B. invasion of Poland C. Nuremburg Trials D. D-Day invasion E. Cold War
Contesta la pregunta con un mandato usando la forma de ustedes. Usa pronombres en la respuesta. ¿Vamos a mezclar el vinagre con el aceite? Sí, __________ .
mezclenlos con el aceite
mézclenlas con el aceite
mezclenlas con el aceite
mézclenlo con el aceite
Factor 16p4 - 24p3
.8p?(2p2-3)
.8p3l2p - 3)
.8p>12 - 3p)
A war begins between two countries, causing a need for thousands of new workers to produce uniforms and weapons. What factor that affects the labor market
is represented in this situation? A) Social change

B) Population shift

C) World event

D) Internal government action
SELECT ALL of the expressions that are equivalent to 4? 5 A. 2?20
B. 6^1/2-5^1/2
C. 3*5^1/2+5^1/2
D. 4*5^1/2
E. 2?10
F. 3*5^1/2
The many volcanoes located along the edge of the Pacific Ocean make up the Ring of Fire. How does subduction play a role in the volcanic activity in the Ring
of Fire? A)Most of the plate boundaries involve one plate sliding underneath another.
B)Most of the plate boundaries involve plates spreading apart, forming new ocean floor.
C)Most of the plates are stationary, capable only of forming hot spots.
D)Most of the plates rub horizontally against each other.
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